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The usage list of suffix to make Passive Voice in Korean (2)

AN, Hyeryeon

SUMMARY : The purpose of this study is to publish suffix data pertaining to passive
voice in Korean via corpus data. Korean has several kinds of way to make passive
voice. The representative way is to connect specific suffixes such as “toyta” or
“tanghata, patta” by replacing the verb of “hata”, which is mostly used in Korean. In
the data list in 2017, it is stated as to verbs of “hata” following only to “tanghata” and
“patta”. Meanwhile it has necessity of list of “toyta” to be understood. These issues
are described in this study. Moreover, this study is expected to contribute to Japanese

Leaner’s difficulty to study Korean passive voice.
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Bz TWaH7-o, HEREE LTHARRZFE T2 57FEEIIRICELLE
BRAGIAID LI L SE R BEENDH L. L, UIRE AL JIHH
ERTENL, ZHZERITERETLL - SLIV]O—DIZ86NTWE2D,
ZHOERE MG HLEL R,

IR LT, BERRICIBWCOZERB21EL Tk, BUT Choy (1957)
WCHELDHEHFEICLYRELZDDOH T T =23 T B ENTE, MR
8ODERP o> T H LR T LI LN TEDL, ZDD, 62 - 53
S L CRERE22E T2 EICE > TR, ED L) REWG TS ER
DA, BEHEE L\,

1) WEREOZ S

1) HREFELHEHT 20 FB®HICHRE (6, hi, I, ki] 2HAL, EE%
Bt s 5.
i) HRHEZHHT25© BRI HER [toyta, tanghata, patta] % f&ific &
5,

i) HHBhENE 2S5 ek [a /e / yel ZHVy, #iBIBIE [cital
kS b,

Choy (1957 ; 566-567)

T, BERETL hi, L, kil 2T A (1) &, ixrERIERE -
WA ZIET 205 ), HEFEIEERGE 2BV CIFhEmN 25t TER Z
HADL L) BEETHRICEESIN TV A, BEFEFEE IR Z VW
HEThrbo 72, [i, hi, i, ki] OO EHENGITL720121%, BhE O (8
EFEOBFILE T 2 TROLMEZFF > TV 505, ‘ta’ OERION & % FF%
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BLVH, MHROFEFEIIBNTEREE E TOFHM 21T IZIFE L v A
5o

WA, wBhEE & M S A 5k (i) 122w THBIzak R % & #iBhEhE [ cita |
WL TN T8 LR EA T LN TE, BHOEHRMEICL 2 #
REPHFIET B2 b v, —H, HREO [LV - FVLV] 2EHT 25
EPTV LD THAREL R L T2 HEREFEEDIHATHE ) HAL R SN
%o LA L, Nam (2011) (&% &, HiBh@had [cita) (&, KAERR, KEOZE
b, "hE, EEX (ENELIATONLITE) REOBRLEST I LNPTE,
ZH LAV T 2O HIC BV THIRDE L 25608\, 20720, <&
LOEFEDNL HARE L BFE L T2 HRANBERESEE BT, FRCHiE)
# [cital #FH L7-ABRGZE LA SHT 25605 5.

iR L7z (1) & (i) OHFFEICHN, #BIEFE [toyta, tanghata, patta % i
M3 2K (i) &, #HTE EH2Arnwordb, 73, #EHF
M, hi, I, ki] Z6H32 (i) OFFELE ST, HIEINLIERICHFLII L%
CHHTLIENTE L, 2LT, HIENE [cita] &, ZBDIOERE
FoZ &by, F72, R TH % [toyta, tanghata, pattal ASAREF & L T
FOL X v @ka o, RBOEKREAHET LI LN TE D, 2512,
HAFED [HA8)E ] (ML T\ % [hata BYF | FEEICEREER S E L L
TUMBY) ZODOT, EEELEHVEFIN TS (FR - %, 1994), 20
L9 BB EFo T, BEFECBIT 22 LOHE BT [toyta, tanghata,
patta] (ZIEfFARTER L LCfEZ 5 EE 2, % (2017) TlX, [tanghata| &
[patta] O HSEEMREES 57202 — N AREZTo TV b,

[toyta] &, [tanghata, pattal & MA~EEHEIPHASA280, HEIYHT L0k
KA TH 5 [tangatal & [patta] OFHIRIEIZ OV TOERETH 5% (2017)
ERT DB H /2o TIEE L T o7z, LA L, [tanghata] & [patta] D
RIS ASA £ 5 123N T [toyta] DEAAER 4 120> TW b 7% EIER L,
[toyta |OFEICEES 2 1) A P OREEZEL, KA FEERTLICES 72,
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HANEEGE B E PG T P80 5802, #hBEhE [cital X OHERRE
[toyta, tanghata, patta] DfF\VFITIZRELZSEZ 5 2 £ L CHIZEEIN T 5,
RERHE, % (2017) O [tanghata| & [pattal (ZBI5 2 EREICZ, FERER
[toyta| % it S5 2 £ AT & % hata B IS DOWTHHNT WS, % (2017) T
i > 7z [tanghata, patta| (ZIEHIHT L WIGETRAZ o 72720, MIHFERE
I TOMHFEEDTLATIT o T o722%, 4, [toytal ZfFHL Tz
BhEIIC BV C, [tanghata| % [pattal 1237 M LTV EMAPBHE SN TE Y,
CDEH)BRBELEDS [toyta)] OB - TWAHUREMEZE L, [toyta) 2%
BIE SN2 DOWTOMMH &L 77 EO®F O HAF, BISCH I S 28
M4 ZRA L7

ARERHL, & (2017) LHEBRIC, #BEE Ttoyta, tanghata, patta] Ofd A5
L W EREN R 2 0t RAITHL - 720 HEERE O R B 13 H AGE O 2 B)E 128
PL7zbDTHY, L LT [EFE+hatal & LTHESN TV,

HIEFE O Mhata B |2, I — /S AR 2@ U CHEEL2ERE LT, [Tt
& [95] oFfEF] (2001) 255 %, [T3teH] & [F5] oFfEF] T,
BREEFECHEMA SN T2 [Thata B 2338, 025 FF RSN TV 5, &5
(2, EHEEOREZUT 2 Al L 72 6, 037 55 & SHEENHIZ U7z Seo (1998) 205 D
ERD BIBELE STV, HENHIZ 6,037 F5D [hata BjFi | % 672 & kR
Tl&, [hata B)Fd ] & THHT A8 L L TEMEE 2 FFO R whll k-
T[4 (wumeik-ssi) @ 87 ] & [ZHA (kulim-ssi) TR &) 156
ZRALTWVA, IhefoT, [[etd]) & [¥ 4] oF#] (2001) TO
[hata B | 1%, [hatal 3T 2TEOERH 2 ZA TS EFWIRI L Z LW
T& %, [hata BhF]] & [hata TBAE ] 2536120 A MEENTWBERK & LT,
FRERE I BV CENE] & AT R 2 ki L2 s B 2 LI o NG, FF
\ZHARFEDHZE)E & WA 2N 24T 5 [Thata B)F] & [hata T4
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RO FLLTEBY, MADEREEDLIONEHELVIEELH 5,

REROIMERIZB VT, BFEOZHEXTHS [toytal OFABURZ T~
H5ZLEHMELTWAYD, [FAM (wumcik-ssi) @ BjF ] Lt hiTw
LENFEE O [hata BhFd ] 3,931 FEOA TR & LTW5,

KR L7z [Thata B)FT | 3,931 55D [toytal & DI HEVEZ TS 7280,
[Naver News Library] &\»9) ¥ 22— /82 % H L72. [Naver News Library]
i%, Tonga-llpo (1920/4/1~), Kyenghyang-Sinmwun (1946/10/6~), Maiil-
Kyengcei (1966/3/24~), Hankyerei (1988/5/15~) @ 4 D DFrE+ED 1999 4F
12 H 31 HE TOHMELFOLZMETE 5 20 Al a2 — /32 TH 5,

3. EH OR B

gk, (T8t & [$2] oFE5] (2001) 254l L 72 Thata B)
Gl 3,93l FEDOH T, DL ) RMWEOBR NI L ENELERT [toyta] &
WRENDDOPEFHRTNL, KERHZ, % (2017) & [k, [hata 85 | 3, 931
FEABEREOAVIE CPHTHIE) 1238, FHFEIZOWTHND 124725 T
DEDHSIZEEZE N2, TOEIZ, T—I8A0 5 OFENEIZ L BOFS
Rl L, HEFEOHRTEEBELEDO CHOWHEBEIHH I TV LI HFETH 50N
WA LI o 7z 4 (2017) Tld, [tanghata] & [pattal O FEIIC
B TOMESEZFENICT AH7-9, 3,931 55O hata ByFi 5T % i ~<7
0, KRERTIE, [toyta] &IETHEZB)F] 3, 108 FHEOA %Y A ML L7z,

BEER)

KiLld, NY 7 VKRR E FREFEOMZESH TIA < b T % Yale 5L
THEFLL7Zo BTN Y 7V d Yale AERLEZ K TRT. & (2017) T,
NY TIVERLE Yale AERISII R, BESLBULT 23325 L T\ 2 BEF D
—YIEFEELRA LD, KEREE (2016) ICBAFBLNETHL0, /N
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HAFEOERZFERW L, HAEZEEE 3 570G BN R 2 fiv3
WhE 9T L7z HAFERIL, [Essence Korean-Japanese Dictionary] (2013) %%
B L7z BEF ISR VEEICB WL, EFERESE I L TER M
BCORERHE L. $72, HEEEREREAMER L7 [BEEEE RN 125
Nz, BARERELE L TERIAHLZFEIIBWUIHAERE A
s, [x] FKic® L7z,

(A=—NZBRFBROHERETR)
I— X ARRBEOFE RN, Ttoytal & ILRWTRERBIF OMR ) A MEL TW 5,
[Tetet] & 4 5] oF5E#] (2001) 7 5 Hi L 72 [hata 853 3,931 350
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HT, [toyta] &3LEWEEZRFREFEOKIL, 3, 1097 TH o7z, 3,109 FFIE, A
WIETIEN, ZOBICHBZIEOE S 25 A L7z
HAFEROBEIZIE, a—/X2AMERZATo 2BICHBIL, € ofh il sh
7ZHAS AR, AHMETHRLL, €OMBICEISCE R L #it sz Eiarz,
MEAER HOAEOWIZIE, HBLL 726150 THEBLH 2% & 8 L W ElsZo B
ZRAALTHBY, TORICHMEAZRL L. 1920424 H 1 HA 5 1999 4
12A3lHETOI—=S3AEKTH 5720, 1999 OB LRFOS D E % 5B,

(FEE R B E)

BISLORIM H & k12, 1920 4EA0I121% 1, 167 #5205 [toyta] & 2 ST w7z,
Z D%, 1930 FAUT1EL 806 FE25H L < Bld, 1940 FARICIX 142 FFE 25 B S 1
726 1950 4EAIC1E 344 §5 & O IGEFED T L < 3, 1960 FX121% 315 58, 1970
FERUAIZ 178 FRIZB VTl toyta) & DIEFEAIEI L 72 2 & 3@ S 172, 1980
SRS S 725E1L 101 58, 1990 FARICIE 55 FECTH > 720 [toytal &
OIite % B472 3, 109 FEOH I *#ﬁ‘%1ﬁﬂﬂ§h&<&ot1§ﬂ%&i€< 7
Molzh, FD L) RblaE &)ﬂ“ﬁf@ 1920 420 5 1990 AL F TorEm %
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AN L 2 sr (GHERE) ofTH S,

FRL72E91, 3,108 FoHIzi:, BIRBERECIIMEH L T vk
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MRTHIEICLY, ED0L) REBBEIPMEHIN TRV GH15 K912
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Nb,

il 4 OFERIHT B HHBIRIIBEOERECTHIRTE L)Y, K20%7 5
TG, FHERIZEN S VO hata B A Ttoytal L3RI R o
TATH 72 %R T 5 2 LN TE L, M2 DKED EEBIE, [toyta] & e &
Nz T o 72RO A 3, 1920 FAMEH S T 725E5 O H T 1930 4FAX
W SN o 2B OBIT 22555 1), 1940 FACITITET 94 55, 1950
FEARITIEBET 115 78, 1960 FARICIEBET 155 35, 1970 4FARIC I HET 240 35
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